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QUESTION 1

You have a project with several issue types, associated unique workflows, and a number of components.
The decision has been made to have all new issues assigned automatically.

To that end, you\\'ve set default assignee(s) for the project lead, component leads, and removed the
Assignee field from the screens associated with the Create Issue operation.

One of the issue types is still being created without an Assignee.

What is the most likely cause of the problem?

A. The issue type\\'s field configuration for Component/s is not set to Required.

B. The default assignee for the issues\\' component is still set to Unassigned.

C. The post function Assign to Lead Developer is missing in the create transition.

D. Users creating this issue type do not have the Assign Issue permission.

E. The assignee is being set to Unassigned in the first post-function of the create transition.

Correct Answer: E

QUESTION 2

Three team members have left the company and their issues need to be re-assigned to various -users.
All of their issues are in the Marketing project which uses the Default Notification Scheme. The scheme
has never been updated.

How do you inform the new assignees about their re-assigned issues?

A. Add an announcement banner to the marketing project to inform team members.

B. Perform a single bulk operation to mention all new assignees in a comment.

C. Add an announcement banner to each new assignee\\'s dashboard.

D. Perform bulk operations to re-assign the issues and notify the new assignees.

E. Use the Send email feature to inform the individual new assignees.

Correct Answer: C

QUESTION 3

Your Jira has 25,000 active users across the globe using 100 projects with over a million issues.
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Another administrator has made a change to a field configuration scheme and you now need to re-index
Jira.

What would be the impact of rebuilding the index in the foreground?

A. Issues will take longer to display during the re-index.

B. Database backups cannot be run until the re-indexing is complete.

C. The configuration change will not be applied until re-indexing is complete.

D. Searches using the field may show erroneous results.

E. All users will be locked out of Jira until re-indexing completes.

Correct Answer: C

QUESTION 4

One of the HR managers created a filter and shared the subscription with members of the hr-managers
group. The filter contains the following valid JQL query:

Manager = currentUser() AND Manager in membersOf("hr-managers")

Which issues will be included in the subscription?

A. Only issues where the user who created the filter is listed in the Manager field.

B. Only issues where the group hr-managers is listed in the Manager field.

C. Only issues where the recipient of the email is listed in the Manager field.

D. All issues where the user listed in the Manager field is a member of the hr-managers group.

E. All issues that are assigned to any member of the hr-managers group.

Correct Answer: D

QUESTION 5

Critical production bugs in a Jira Software project are hidden with an issue security scheme that has a single security
level.

Only project administrators are listed in the security level and granted the Set Issue Security permission.

A new requirement states that a few other Jira Core users, who have Browse Projects permission, should be able to see
the hidden issues. These users will vary per issue and be selected from across various groups.

What needs to be added to the security level?

A. Application access
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B. User custom field value
C. Group custom field value
D. Project role

E. Single Users

F. Group

Correct Answer: D

Reference: https://confluence.atlassian.com/adminjiracloud/configuring-issue-level-security776636711.html
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